
Challenge 3: 

This challenge corresponds to the implementation of Scenario 3 of video 1.2 (A company 

with different branches). 

Remember that, in this usage scenario, the company has a single application that is used by 

all the different branches of the company. That is, each branch is represented by a 

repository. 

 

Two branches (Branch1 and Branch2) must be created, where both use the TravelAgency 

repository as authentication. 

 

Next, users Dave and Nate must be added to Branch1, and Pat and Chris to Branch2. 

The challenge ends when you manage to log in with any of these users, after assigning them 

to their corresponding branch. 

 

 


